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A random variable X has the following probability function
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PART-A
(Answer all the Questions 5 x 2 = 10 Marks)
1 1

If P(4) = > P(B)= % P(ANB)= é then P(4L B)

Define Binomial distribution
Find the median of the following values 26,8,6,12,15,32.
write normal equations to y =ax+b
Define Chi-square test

PART-B

(Answer all Five Units 5 x 10 = 50 Marks)

UNIT-I
A class consists of 6 girls and 10 boys. If a committee of 3 is chosen at random from
the class, find the Probability that (i)3 boys are selected (ii)exactly 2 girls are selected

1 1

Determine (i) P(%) (i1) P(%(v) ,if A and B are events with P(A) = 3 P(B) = i

P(AuB):%.
OR
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Determine (i) K (ii) Evaluate P(X > 6) and P(0<X<5) (iii) if P(X <K)>1/2, find the
minimum value of K (iv) variance.

UNIT-1I

a Fit a Binomial distribution to the following frequency distribution:
X 0 1 2 3 4 5
b 2 14 20 34 22 |8
p The mean and variance of a binomial distribution are 4 and 5 Find p(X >1).
OR
Derive mean and variance of Normal distribution.
UNIT-III

a

Find the median to the following data

Class intervals 40-50 | 50-60 | 60-70 70-80_ 80-90
frequency 3 12 23 8 2
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Q.P. Code: 18HS0835
b Find arithmetic mean to the following data

)N Y g e g 5 4 5
| T e N B
OR

7 Calculate the correlation coefficient for the following heights(in inches) of fathers(X) and
their sons(Y)

8 Fit a parabola to the data given below

9

a

X |65 |66 |67 |67 |68 |69 |70 |72
Y |67 |68 |65 |68 [72 |72 |69 |71

x| 1 2 13| 4 | 3
y |10 |12 ]| 8 | 10 | 14

OR
A sample of 400 items is taken from a population whose standard deviation is 10. The
mean of the sample is 40.Test whether the sample has come from a population with
mean 38.
The means of two large samples of sizes 1000 and 2000 members are 67.5 inches and
68.0 inches respectively. Can the samples be regarded as drawn from the same
population of standard deviation 2.5 inches.

10 A random sample of 10 boys had the following 1.Q’s : 70,120,110,101,88,83,95,98,107
and 100 i) Do these data support the assumption of a population mean [.Q of 100?
ii) Find a reasonable range in which most of the mean 1.Q values of samples of 10 boys lie.

11

a

OR
Find the maximum difference that we can expect with probability 0.95 between the
mean of samples of sizes 10 and 12 from a normal population if their standard
deviations are found to be 2 and 3 respectively.
The number of automobile accidents per week in a certain community are as follows:
12, 8, 20, 2, 14, 10, 15, 6, 9, 4. Are these frequencies in agreement with the belief that
accident conditions were the same during this 10 week period.
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